/DVIRB

3UDFRZQLN 5RINADG  PJU - RVHID 7DGHXV] 7\J

o
™
7N 7N 7N 7N
.216/87%$8&( ODIDWIZR 3URIHNIRZDQLH ZQCI] ODIDWVIZR ™
_$7("5% DUFKUHNIRQIFIQH  0Z PJ| |Z\VIDZIHQQLFIZR P DUFKUHNIRQIFIQH  1Z
0$/$567:% P U -RVHID 7DGHXV] = _RVHID 7DGHXV] - 3URIHNIRZDQIH ZQEil] .216/87
z _RVHID 7DGHXV] = 250/ :$0/ Z\VIDZIHQQLFIZR PJl $&-(
S -RVHID 7DGHXV] = .$7("5%
x -:$0/ 03$/$567
N ICFD FR 6ZDNJRGQH | | =8 P
RVHID
PDIDWIZR Hite
DUFKUHNIRQLF] QH 7DGHXV]
SUHPHQQHT -
SUIRIHNIRZDQUHP ZQEil]
7N
3 $QDIRPLD UXFKX IDE PJU . RVHID 7DGHXV]
x - - -
= GDADICG  PDUFD  JRG]  NZIHIQID
JRG] PDID  JRG] PDID  JRG]
FIHIZFD  JRG]
7N
ODIDWVIZR SUDFRZQID GR Z\ERUX IDE DGLXQNI )UaF]HN %DUIRV] DGLXQNI
-DNXERZVNL -DNXE PJU . RVHID 7DGHXV] PJU = DUZDV -XVINQD
3DZHF]\N ODIHXV] 3URI $-" *RZDFN. -DQXV] SURI $-= . DUDQNIHZIF]
= iRG]LPIHU] SIRI $-= -DUJHPVN. ODUDQ SURI $-= _XIHI = {RG]LPIHU]
SIRI 1Z . ZHFIFK -DIRViDZ = DZUINHZLF] SUXU = - -
= = z $ = - - -:$0/
% -:$0/ -:z$00 = -:$00 6= :-:%00 6=
= SIDFRZQID, SURI -DURVIDZ - ZHFIFK PDUJHF  NZIHFHE
a PDI  PJUODIHXV] 3DZHF]\N NZIHFIHE  PDI
N 3UDFRZQID ,, SIRI $- = ODUDQ -DUJHPVN. PDUJHF . ZIHFIHE
n onl &]HUZIHF PJU ODIHXV] 3DZHiFT\N
NZHIQD 35$&2:1,$,, 3URI =RG]LPLA] . XIHI PDUJHF
. ZIHFIHE oD &]HUZIHF
35882 :1,$,9 SIRI $-" =iRG]LPLH] .DIDQNHZLF] PDUTHF
NZIHFLHE PDI GU%DURV] )UaFTHN PDUJHF PDI
FIHUZIHF K PJU-XVINQD = DUZDV NZIHFIHE PDI

FHUZIHF K 35$&2:1,$9 SIRI $-" -DQXV] 5DIDi *iRZDFN.
. ZIHFHE oD &JHUZIHF GU -DNXE -DNXERZVN
PDUJHF &JHIZIHF




3UDFRZQLN 5RINADG  PJU - RVHID 7DGHXV] 7\J

/DVIRB

SLCWHN

7\J

ODIDWIZR SUDFRZQLD G\SIRPRZD (DE DGLXQNI )UgF]HN %DUIRV] DGLXQN
-DNXERZVNL -DNXE DGLXQNI 64RID =DUXV] PJU -RVHID 7DGHXV] PJU = DUZDV
-XVINQD 3DZHiFJ\N ODIHXV] 3URI $-= *iRZDFNL -DQXV] SURI $-~

- DUDQNIHZIF] = éRG]LPLHU] SURI $-~ -DUJHPVNL ODUDQ SURI $-= _X(HI
ZiRG]LPLHU] SURI ]Z .ZHFIFK -DURVIDZ = DZUNIHZLF] $UIXU = -

z : z z $ - z z 2:z%$0/
2:z$0/ -2$00 6= ::$00 6= -::$00 6=
35%$&2:-1,%, SIRI -DURViDZ . ZHFILFK ODI JRG]LQ RUD]

JDICFID  JRG]IQ\ &JHUZIHF DICFLD WZDlg
JRG]IQ\ . ZIHFIHE PJU 7DGHXV] -RVHID ODUJHF - ZIHFIH

35%$&2:1,%,, 3URI$-" ODUDQ -DUJHPVNL PDUJHF
NZIHFIHE PDIl =$-8&,%$ *2"=1< PJ
ODIHXV] 3DZHFI\WN . ZIHFIHE SR JRG]Q 35%&2:1%,,
3URI = iRG]LPLHT - XIHI

=$-€&,$ *2"=,1< " "DUXV] 6:RID ODUJHF . ZIHFIHE
OJU $UIXU = DZUINIHZLF] ODUIHF 35$&2:-1,$,9 SIRI $-~
= iRG]LPLHU] - DUDQNLHZLF] PDU]JHF NZIHFIHE PDI U %DUIRV]
YUaFJHN PDU]HF PDI  FIHUZWHF PJU -XVINQD = DUZDV
NZIHFIHE PDI 35%$&2:-1,$9 3URI 5DID: *iRZDFNL
JRG] - ZIHFIHE ol JRG]IQ JRG]IQ\ F]HUZIHF

" U -DNXE -DNXERZVNL PDU]JHF

6R




